

MEETING DATE: October 18, 2021

AGENDA ITEM: Consider Approval of Purchase of Furniture for Aledo Middle School

PRESENTER: Earl Husfeld, Chief Financial Officer and Tyler Boswell, Director of

Construction and Facilities

BACKGROUND INFORMATION:

- Per Board Policy CH (Local), any single, budgeted purchase of goods or services that costs \$50,000 or more, regardless of whether the goods or services are competitively purchased, shall require Board approval before a transaction may take place.
- As you are aware, renovations/additions to Aledo Middle School (AMS) were included within the District's 2019 Bond Program.
- Included within these bond project costs were funds allocated for the purchase of new furniture to outfit AMS to the same standard established with the replacement/purchase of furniture for Coder, Stuard, McCall, Walsh, and Annetta Elementary Schools.
- Due to the construction phasing at AMS, all of the new middle school furniture did not need to be purchased at one time. The first order of furniture for AMS was approved by the Board of Trustees in April 2021.
- The attached quotes include furniture for the AMS spaces that are currently scheduled to be available for District use in February 2022 and March 2022.
- To ensure best pricing and value, the District utilized the Educational Purchasing Cooperative of North Texas (EPCNT) cooperative purchasing method to obtain pricing from Lone Star Furnishings.
- In order to ensure timely delivery of the furniture for these phases at AMS, we are presenting this item to you for consideration/action at this time.

FISCAL INFORMATION:

The \$399,279.46 cost of this furniture purchase will be paid from 2019 Bond Program funds allocated for Aledo Middle School furniture, fixtures, and equipment.

ATTACHMENTS:

Quotes from Lone Star Furnishings, LLC for Aledo Middle School Furniture

ADMINISTRATIVE RECOMMENDATION:

The Administration recommends the Board of Trustees approve the quotes submitted by Lone Star Furnishings, LLC in the amount of \$399,279.46 for the purchase of furniture for Aledo Middle School as presented.



4301 Reeder Dr Suite 100 Carrollton, TX 75010 (888)755-1836(O)

Aledo ISD MS Februrary 2022 Install - 10-1-21

Ship To:

Aledo Middle School 416 FM 1187 Aledo, TX 76008

Comments:

Sold To:

Aledo ISD 1008 Bailey Ranch Road Aledo, TX 76008

Install Dates:

Quote Info

Quote #
Revision #

Sales Rep Kelly Forman

Email: kelly@lonestarfurnishings.com

Phone: 972-971-3981 **Sales Coordinator** Kelley Boyter

MFG	Model #	Description	QTY	Sell	Extended
FOMCOR	RE				
	F004-24X21X18 -G	B Honeycomb Ottoman 24" x 21" x 18"H, Glides Fabric Cinema Amaretto	18	\$339.43	\$6,109.74
FOMCOR		3 Honeycomb Ottoman with Whiteboard Lamiante Top, 24" x 21" x 18"H, Glides Laminate White Markerboard Fabric Sides Cinema Amaretto	6	\$482.38	\$2,894.28
FOMCOR		3 Boomerang Bench 72" x 18" x 18"H, Glides	6	\$1,258.31	\$7,549.86
		Fabric Cinema Fossil			

MFG	Model #	Description		QТY	Sell	Extended
HON	H5715.N.H	Volt 5720 Series Task Stool wit Footring, Armless	th Mesh Back, Adjustable Height	10	\$311.49	\$3,114.90
SEA.		UPH: Select Fabric Select Upholstery for 5700 Select Leather Color Frame Color Selection	GRADE: Leather Upholstery GRADE: SB Leather Fabric COLOR: Black FRAME: Black			
HON	HIWMM.Y1.A.H	Ignition 2 Task Chair with Mes	h Back and Adjustable Arms	16	\$343.71	\$5,499.36
	.IM		Syncho-Tilt W Seat Slider Arm: Height and Width Adj. Arr Hard Caster Mesh Back Brownstone Seat Fabric Parker Mink No Lumbar Base: Standard Base Frame: Black	m		
HON						
	HTLB48108	Preside Series Boat Shaped La 108"W X 48"D, No Power	minate Conference Table Top,	2	\$542.65	\$1,085.30
		Edge Option Select Edge Finish Select Grommet Select Laminate	2MM/Flat Edge: Kingswood Walnut Grd L1 Standard Laminates LAM: Kingswood Walnut			
HON	HTTLEG108	Alumaiauma Tilam fam 100" Talala	. Tana	2	4452.46	4005.00
7	HILEGIOS	Aluminum T leg for 108" Table Select Base Color Select Grade 2 Paint	P2 Paint Opts Platinum Metallic	2	\$453.46	\$906.92
КІ						
	CTABLE-73P	_	Round Worksurface, 73P Edge	12	\$278.08	\$3,336.96
7		Edge Color Surface Finish KI Laminates	Edge - TBD Laminate - TBD Frame Starlight Silver			
KI	DN2A00	Doni Four-Leg Armless Chair v	v/Casters,Polv.Two-Tone	25	\$225.00	\$5,625.00
		Two-Tone Poly Color Two-Tone Poly Color NFR Frame Color	Outside Nemo/Inside Cottonwo Starlight Silver Metallic Hard floor casters		¥225.00	¥3,023.00

MFG	Model #	Description		QTY	Sell	Extended
КІ						
	DN4A00H30	Doni Four-Leg Armless 30" Sto	ool,Poly,Two-Tone	4	\$290.19	\$1,160.76
KI		Two-Tone Poly Color Two-Tone Poly Color NFR Frame Color	Outside Nemo/Inside Cottonwo Starlight Silver Metallic Plastic/Nylon Glides	ood		
KI.	H43/FC	Hub Armless Lounge Chair wit 78"	h Sled Base ,Dual Fabrics, 26" x	3	\$2,341.15	\$7,023.45
		Highest Grade Contrasting Fabric Fabric Contrast #1/Back Hub Fabric NFR Contrast #1/ Back Fabric Contrast #2/Seat, sides Hub Fabric NFR Contrast #2/ Seat, sides Base and Seat Back Upright Finish Ganging	No privacy screen attachments No Moisture Barrier	dstone	ped	
KI						
	P255F-74P	Portico Table with Rectangle T 30"D x 60"W x 29"H, Glides, 74		2	\$567.12	\$1,134.24
		Edge Color Surface Finish Base Finish Base Options Plastic End Cap Color Table Height Other Than 29"	Laminate - TBD Edge Color - TBD Frame Starlight Silver Metallic Glides No wireway No grommets			
KI						
	P256F-74P	Portico Table with Rectangle T ,74P Edge, Glides, 30"D x 72"W		1	\$610.96	\$610.96
		Edge Color Surface Finish Base Finish Base Options Plastic End Cap Color	Laminate - TBD Frame Starlight Silver Metallic Plastic Glides No wireway No grommets			
KI	PH255F-74P	Portico Table with Half Round Casters, 74P Edge, 30"D x 60"V	Top and Fixed Height T- Legs, W x 29"H	6	\$780.58	\$4,683.48
+		Edge Color Surface Finish Base Finish Base Options Plastic End Cap Color	Laminate - TBD Edge - TBD Frame Starlight Silver Metallic Casters Standard height (29")			

MFG	Model #	Description		QTY	Sell	Extended
KI						
	PR25FX-74P	Portico Table with Round Top Glides, 74P Edge, 30" Diamete		2	\$1,039.74	\$2,079.48
*		Edge Color Surface Finish Base Finish Base Options	Laminate - TBD Frame Starlight Silver Metallic Glides Non-Standard height 36"			
кі	RK4100H24BR	Ruckus Stool, Armless, Poly Sh 24"H	ell with Boookrack & Glides,	24	\$221.54	\$5,316.96
KI		Poly Color Poly NFR Frame Color Bookrack Color Glide Option	Compliance to TB 117-2013 Flannel Starlight Silver Metallic Nemo Nylon plastic glides			
KI.	RKV100H18BR	Ruckus Stack Chair, Armless, P Rack,Casters, 18"H	oly Shell with Bookbag	236	\$191.54	\$45,203.44
		Poly Color Poly NFR Frame Color Bookrack Color Caster Option	Compliance to TB 117-2013 Flannel Starlight Silver Metallic Nemo Hard floor casters			
SMITH SY	/STEM					
	03095	Interchange Wing Desk with H Thick Top with 4MM T-Mold E Add Casters	leight Adjustable Legs, 1.25" dge, 23.5"D x 41"W x 22-34"H,	236	\$158.42	\$37,387.12
		* * OPTIONS * * Edge Type	Laminate Top Silver Alchemy Edge Platinum Frame Platinum D Edge - 1.25" Thick with 4MM Add Casters	l T-Mold		
SMITH SY	/STEM					
	17576-W	3" Black Casters, 4 locking - Fo	or Wing Desks	177	\$51.20	\$9,062.40
SMITH SY	/STEM					
_	33891	Groove Stool with Fixed heigh	t Legs, A-shell, 30"H, Glides	15	\$113.40	\$1,881.00
		* * OPTIONS * * Glides	Shell Charcoal Frame Platinum Standard Nylon Glides			

MFG	Model #	Description		QTY	Sell	Extended
SMITH SY	'STEM					
	910009093P	Cascade Mega-Tower (Casters) 6" Totes & Three 12" Totes, All	Open with Nine 3" Totes, Nine Totes are Standard Width	9	\$1,480.20	\$13,321.80
		Cascade_Side/ End_Panel_and_Edge_Color_Se lection	Orange End Panels			
VS	01471	Team Freeform Stand at Table, 65"W x 44 7/8"D x 43 3/8"H	Fixed Height with Plastic Glides,	, 5	\$1,070.84	\$5,354.20
			White Markerboard Top White Edge Band Frame Arctic			
VS	03825-18	Hokki Stool with Standard Sea	t, 18"H	6	\$108.33	\$649.98
I		HOKKI_CUSHION	Color Orange			
VS						
	04170	Puzzle Freeform Table with Fix 65"W x 44"D x 30"H, Blue Dot	ed Height Legs with Glides,	2	\$941.67	\$1,883.34
			White Markerboard Top Matching Edge Arctic Frame Glides			
VS						
	2824	RondoLift-KF, Round Hinged T Adjustment, Middle Legged Fr Casters, 36" Diameter x 24 - 45	ame with Croxx Base and	8	\$1,765.00	\$14,120.00
			White Writeable Top Matching Edge Frame Arctic			
VS						
	2829	RondoLift Mobile Sitting/Stand Frame with Cross Base and Gas 27-1/4-44.5"H	I-At Table with Drawer, Column s Lift, 47-1/4"W x 33"D x	10	\$1,979.17	\$19,791.70
8			Arctic White White Left			
			Unified Locking 18001 Mobile			

MFG	Model #	Description	QTY	Sell	Extended
VS					
	45318	Shift+ Landscape Single Sided Low Mobile Cabinet with (4) Insertable Shelves, Middle Partition Center, 2 Sliding Handles 41-5/8"W x 16-3/4"D x 43-3/8"H, Linking Magnets, Casters ARCTIC WHITE PERFORATED METAL -ARCTIC YES WHITE		\$1,158.33	\$10,424.97
VS					
	45319	Shift+ Landscape Teacher's Low Mobile Cabinet, 2 locking Casters, 2 Open Compartments at Bottom with Adjustable Shelf, 1 Compartment with Locking Door and File Drawer, 46-1/4"W x 12-1/4"D x 45-1/2"H Arctic White Perforated Metal White Unified Locking 18001 Metal Bow Handle CR-Plated 1 Pull-Out W/ Suspension Fra Left Yes		\$1,354.17	\$13,541.70
ZFREIGH	Т				
ZINSTAL	ZFREIGHT	Freight	1	\$6,571.43	\$6,571.43
ZII43 I ML	zinstall	Labor to Receve, Deliver and Install and includes Trash	1	\$16,414.50	\$16,414.50
		Removal		,	,

MFG Model # Description QTY Sell Extended

This quotation valid for Purchase Orders received within 30 days unless otherwise mutually agreed in writing. Any note regarding lead times for products purchased reflects the best information available to us at the time the quote was delivered.

Unfortunately, supply chain issues continue for many manufacturers and/or shippers. If you have an absolute 'must receive by' date, please discuss that with your Lone Star Furnishings (LSF) representative prior to placing the PO. We will do everything in our power to work with manufacturers and freight companies to get your order to you in the timeliest manner possible. In the event delays are encountered, we will contact you.

If you were unable to execute a PO within the 30 days reflected on your LSF Quote, please contact your LSF representative to update your quote and confirm current lead times.

Thank you for considering Lone Star Furnishings. We appreciate the opportunity!

Total:	\$253,739.23	

CLIENT APPROVAL:	DATE:



4301 Reeder Dr Suite 100 Carrollton, TX 75010 (888)755-1836(O)

Aledo ISD MS March 2022 Install - 10-4-21

Ship To:

Aledo Middle School 416 FM 1187 Aledo, TX 76008

Comments:

Sold To:

Aledo ISD 1008 Bailey Ranch Road Aledo, TX 76008

Install Dates:

Quote Info

Quote #
Revision #

Sales Rep Kelly Forman

Email: kelly@lonestarfurnishings.com

Phone: 972-971-3981 **Sales Coordinator** Kelley Boyter

						, ,	
MFG	Model #	Description		QTY	Sell	Extended	
ALUMNI							
	SC-PW2734- HPL-PC-FX	_	HPL Worksurface with PVC Is with PVC Edge, Powder Coat ated Height Worksurface, Starter	12	\$409.00	\$4,908.00	
			Finishes - TBD				
HON							
	H1522	Wood Center Drawer 22W x 1	L5-3/8D	2	\$63.88	\$127.76	
		Select Laminate Laminate Selection	Grd L1 Standard Laminates LAM: Kingswood Walnut				
HON							
	H5715.N.H	Volt 5720 Series Task Stool wi Footring, Armless	th Mesh Back, Adjustable Height	3	\$269.47	\$808.41	
100		UPH: Select Fabric Select Upholstery for 5700 Select Leather Color Frame Color Selection	GRADE: Leather Upholstery GRADE: SB Leather Fabric COLOR: Black FRAME: Black				

MFG	Model #	Description		QTY	Sell	Extended
HON						
	H90056	Tackboard for 72"W Stack	on Strg Bck Enclosure	4	\$129.28	\$517.12
		Fabric Selection Gr B Fab	Fabric Etch Vanish			
HON	1100057	Tackboard for 70"M Ctack	on Ctua Dale Englaceura	2	¢12615	¢272.20
	H90057	Tackboard for 78"W Stack Fabric Selection	Fabric Etch Vanish	2	\$136.15	\$272.30
		Gr B Fab	FADRIC ELCIT VALUSTI			
HON						
	HF22	Master Key (One Key)		2	\$17.06	\$34.12
HON						
	HF23S-101	Contain Satin Removable L	ock Core Kit	2	\$17.06	\$34.12
***		Select Key Number	KEY NUMBER: 101E			
777						
HON						
	HF23S-102	Contain Satin Removable L	ock Core Kit	2	\$17.06	\$34.12
		Select Key Number	KEY NUMBER: 102E			
777						
HON						
	HF23S-103	Contain Satin Removable L	ock Core Kit	2	\$17.06	\$34.12
		Select Key Number	KEY NUMBER: 103E			
770						
HON						
	HF23S-104	Contain Satin Removable L	ock Core Kit	2	\$17.06	\$34.12
		Select Key Number	KEY NUMBER: 104E			•
77		•				

MFG	Model #	Description		QTY	Sell	Extended
HON						
	HF23S-105	Contain Satin Removable Lock	Core Kit	2	\$17.06	\$34.12
77		Select Key Number	KEY NUMBER: 105E			
HON						
	HF23S-106	Contain Satin Removable Lock	Core Kit	3	\$17.06	\$51.18
770		Select Key Number	KEY NUMBER: 106E			
HON						
	HFTLS24	Flock Series 24" Cube Table La	minate	2	\$327.64	\$655.28
		Grommet Selection Port Selection Select Grade Select Laminate Finish Leg Option Select Paint Color Select Grade 2 Paint	No Grommet No Ports Grd L1 Standard Laminates LAM: Kingswood Walnut Tapered Round Leg P2 Paint Opts Silver Texture			
HON						
<u> </u>	НН870960	Tasklight 60W		6	\$93.09	\$558.54
HON						
	HIGS6.F.H.IM	Ignition Guest Chair with Fixed	Arms, Mesh Back and Casters Arm: Fixed Casters Mesh Back Brownstone Seat Fabric Parker Mink Base Black	23	\$229.47	\$5,277.81
HON						
	HIWMM.Y1.A.H .IM	Ignition 2 Task Chair with Mes	h Back and Adjustable Arms Syncho-Tilt W Seat Slider Arm: Height and Width Adj. Arr Hard Caster Mesh Back Brownstone Seat Fabric Parker Mink No Lumbar Base: Standard Base Frame: Black	25 m	\$297.34	\$7,433.50

MFG	Model #	Description		QTY	Sell	Extended
HON						
	HLSL5414L	Laminate Floating Modesy Pa	nel For 30" x 60" Worksurface	4	\$104.23	\$416.92
			Grd L1 Standard Laminates LAM: Kingswood Walnut Color: Black			
HON						
	HLSLZ5SC60	48W External Stiffener		4	\$42.82	\$171.28
			Color: Black			
HON						
	HML1SDF.A	Grove Series Single Seat Lour Fabrics	nge Chair with Straight Arms, Du	al 4	\$898.50	\$3,594.00
			Arm: Straight Ourter Back & Arm Fabric Cali Inner Back & Seat Fabric Parke Tapered Round Leg Silver Texture Grd L1 Standard Laminates Kingswood Walnut No Grommets No Ports		ngo	
HON						
	HML2STDF.A	Grove Series Two Seat Sofa w	rith Center Table, Dual Fabrics	1	\$1,798.20	\$1,798.20
		Select Arm Type Frame/Arm Fabric Gr 11 Uph CF Stinson Calibration UPH Back/Seat Cush Fabric Upholstery Selection UPH: Parker Grove Leg Opt Select Leg Color	Arm: Straight Ourter Back & Arm Fabric Cali Inner Back & Seat Fabric Parke Tapered Round Leg Silver Texture Grd L1 Standard Laminates Kingswood Walnut No Grommets No Ports		ngo	
HON						
	HNL233028PSL	Concinnity Series Shelf/Box/B 23-1/8"D X 28-1/2"H - For Cr	ox Lateral File Pedestal 30"W X edenza	4	\$539.74	\$2,158.96
		Select Handle Detail Select Grommet Color Select Chassis Color Select Chassis Color Select Front Color Grade 1 Laminate Selection	Loop/Satin Black Grommet Grd L1 Standard Laminates LAM: Kingswood Walnut Grd L1 Standard Laminates LAM: Kingswood Walnut			

MFG	Model #	Description		QTY	Sell	Extended
HON						
	HNL241865WL L	Concinnity Series Wardrobe St X 24D X 64-3/4"H	orage Cabinet Hinged Left 18"W	2	\$702.56	\$1,405.12
		Select Handle Detail Select Chassis Color Select Chassis Color Select Front Color Grade 1 Laminate Selection	Loop/Satin Grd L1 Standard Laminates LAM: Kingswood Walnut Grd L1 Standard Laminates LAM: Kingswood Walnut			
HON						
	HNL241865WL R	Concinnity Series Wardrobe St 18"W X 24D X 64-3/4"H	orage Cabinet Hinged Right	2	\$702.56	\$1,405.12
		Select Handle Detail Select Chassis Color Select Chassis Color Select Front Color Grade 1 Laminate Selection	Loop/Satin Grd L1 Standard Laminates LAM: Kingswood Walnut Grd L1 Standard Laminates LAM: Kingswood Walnut			
HON						
	HNL2442LP	Concinnity Series Left Pedestal	Return 42"W X 24"D X29-1/2"H	1	\$440.36	\$440.36
		Select Edge Detail Edgeband Color Selection Select Handle Detail Select Grommet Color Select Top Laminate Color Grade 1 Laminate Selection Select Chassis Laminate Color Grade 1 Laminate Selection Select Front Color Grade 1 Laminate Selection	Tri Oval Edge Kingswood Walnut Loop/Satin Color: Platinum Grd L1 Standard Laminates LAM: Kingswood Walnut Grd L1 Standard Laminates LAM: Kingswood Walnut Grd L1 Standard Laminates LAM: Kingswood Walnut			
HON						
	HNL2442RP	Concinnity Series Right Pedest 29-1/2"H	al Return 42"W X 24"D X	1	\$440.36	\$440.36
		Select Edge Detail Edgeband Color Selection Select Handle Detail Select Grommet Color Select Top Laminate Color Grade 1 Laminate Selection Select Chassis Laminate Color Grade 1 Laminate Selection Select Front Color Grade 1 Laminate Selection	TRI OVAL EDGE KINGSWOOD WALNUT LOOP/SATIN COLOR: BLACK GRD L1 STANDARD LAMINATES LAM: KINGSWOOD WALNUT	5		
HON						
	HNL3672FD	Concinnity Series Stack-on Sto 72"W X 15"D X 35-1/4"H	rage Hutch with Frosted Doors	4	\$841.94	\$3,367.76
		Select Chassis Color Select Chassis Color	Grd L1 Standard Laminates LAM: Kingswood Walnut			

MFG	Model #	Description		QTY	Sell	Extended
HON						
	HNL3672LPRB	Concinnity Series Left Pedestal Breakfront Modesty Panel 72"		1	\$844.36	\$844.36
		Select Edge Detail Edgeband Color Selection Select Handle Detail Select Grommet Color Select Top Laminate Color Grade 1 Laminate Selection Select Chassis Laminate Color Grade 1 Laminate Selection Select Front Color Grade 1 Laminate Selection	Tri Oval Edge Kingswood Walnut Loop/Satin Color: Black Grd L1 Standard Laminates LAM: Kingswood Walnut			
HON						
	HNL3672RPRB	Concinnity Series Right Pedest Breakfront Modesty Panel 72"\	al Desk with Rectangle Top and W X 36"D X 29-1/2"H	1	\$844.36	\$844.36
		Select Edge Detail Edgeband Color Selection Select Handle Detail Select Grommet Color Select Top Laminate Color Grade 1 Laminate Selection Select Chassis Laminate Color Grade 1 Laminate Selection Select Front Color Grade 1 Laminate Selection	Tri Oval Edge Kingswood Walnut Loop/Satin Color: Black Grd L1 Standard Laminates LAM: Kingswood Walnut			
HON						
	HNL3678FD	Concinnity Series Stack-On Sto 78"W X 15"D X 35-1/4"H	orage Hutch with Frosted Doors	2	\$866.18	\$1,732.36
		Select Chassis Color Select Chassis Color	Grd L1 Standard Laminates LAM: Kingswood Walnut			
HON	HNLEP2428L	Concinnity Series End Panel Le	ft End 15-3/4"\W X 24"D X	2	\$90.50	\$181.00
	TIIVLLI ZHZOL	28-1/2"H - For Credenza	It Liid 15 5/4 W X 24 D X	2	\$30.30	\$101.00
			No Grommet Grd L1 Standard Laminates LAM: Kingswood Walnut			
HON						
	HNLEP2428R	Concinnity Series End Panel Ri 28-1/2"H - For Credenza	ght End 15-3/4"W X 24"D X	2	\$90.50	\$181.00
			No Grommet Grd L1 Standard Laminates LAM: Kingswood Walnut			

MFG	Model #	Description		QTY	Sell	Extended
HON						
	HNLMP7228	Concinnity Series Back Panel 7	72"W X 27-7/8"H - For Credenza	4	\$126.86	\$386.24
· ·		Select Grommet Color Select Laminate Color Select Laminate Color	Color: Black Grd L1 Standard Laminates LAM: Kingswood Walnut			
HON						
	HNLRC2472	Concinnity Series Rectangle W Credenza	Vorksurface 72"W X 24"D - For	4	\$162.41	\$649.64
		Select Edge Detail Edgeband Color Selection Select Grommet Color Select Top Laminate Color Grade 1 Laminate Selection	Tri Oval Edge Kingswood Walnut Color: Black Grd L1 Standard Laminates LAM: Kingswood Walnut			
HON						
	HNLRC3060	Concinnity Series Rectangle W Adjustable Height Legs	Vorksurface 60"W X 30"D - For	4	\$163.22	\$652.88
		Select Edge Detail Edgeband Color Selection Select Grommet Color Select Top Laminate Color Grade 1 Laminate Selection	Tri Oval Edge Kingswood Walnut Color: Black Grd L1 Standard Laminates LAM: Kingswood Walnut			
HON						
	HREC3S2LTF	3 Stage 2 Foot Adjustable Hei	ght Base	4	\$336.09	\$1,344.37
T		Select Paint Grade Select Paint Color Select Glide Select Keypad	P1 Paint Opts Nickel Standard Glide Memory Preset			
HON						
	HT29FB3672	Preside Series 29.5"H Footed	Base for 36x72 Top	1	\$418.14	\$418.14
4		Paint Selection Select Grade 2 Paint	P2 Paint Opts Silver			
HON						
	HTFXM29	Preside Series Sitting Height F Top	Footed X-Base for 42" Round	3	\$250.88	\$752.64
¥		Paint Selection Select Grade 2 Paint	P2 Paint Opts Silver			

MFG	Model #	Description		QTY	Sell	Extended
HON						
	HTG1PWR-3P-	MhoB G1 Pop-up Port 3 AC F	Pwr / 1 Blank / 6' Cord	4	\$171.30	\$685.20
	18	Select Paint Color	Silver			
HON	HTLB48108	Preside Series Roat Shaped La	aminate Conference Table Top,	2	\$501.77	\$1,003.54
	111111111111111111111111111111111111111	108"W X 48"D, G1 Cutouts (2)		2	\$JU1.77	\$1,003.54
		Edge Option Select Edge Finish Select Grommet Select Laminate Select Laminate	2MM/Flat Edge: Kingswood Walnut Cut out for Pop Up Port Grd L1 Standard Laminates LAM: Kingswood Walnut			
HON						
	HTLCRED57S	Preside Series Hopsitality Cred x 36"H	denza with Shelves, 20"D x 57"W	1	\$1,120.70	\$1,120.70
		Laminate Top Selection Select Laminate Select Edge Color Laminate Chassis Selection Laminate Selection Select Pull Back Cutout Selection Laminate Shelf Selection Laminate Selection	Gr L1 Standard Laminates LAM: Kingswood Walnut Kingswood Walnut Gr L1 Standard Laminates LAM: Kingswood Walnut Pull: Loop Satin Nickel No Cutout Gr L1 Standard Laminates LAM: Kingswood Walnut			
HON						
	HTLD42	Preside Series 42" Round Lam	iinate Table Top	3	\$205.64	\$616.92
		Edge Option Select Edge Finish Select Grommet Select Laminate Select Laminate	2MM/Flat Edge: Kingswood Walnut No Grommets Grd L1 Standard Laminates LAM: Kingswood Walnut			
HON						
	HTLE3672	Preside Series Arc End Lamina	ate Table Top, 72"W x 36"D	1	\$267.85	\$267.85
•		Edge Option Select Edge Finish Select Grommet Select Laminate Select Laminate	2MM/Flat Edge: Kingswood Walnut No Grommets Grd L1 Standard Laminates LAM: Kingswood Walnut			

MFG	Model #	Description		QTY	Sell	Extended
HON						
	HTLHP108	Preside Series Hollow Laminat	e Panels Base Set for 108" Top	2	\$802.75	\$1,605.50
		Select Laminate Finish Laminate Selection	Grd L1 Standard Laminates LAM: Kingswood Walnut			
SMITH SY	STEM					
	04116	Interchange Activity Table with Height Legs, 1.25" Thick Top w 60"W x 22-34"H, Glides	n Rectangle Top and Adjustable vith 4mm T-Mold Edge, 42"D x	16	\$540.33	\$8,645.28
			Laminate Asian Night Edge Charcoal Frame Platinum			
SMITH SY	STEM					
	25216BUTCHER	Planner Studio Table with Buto with Casters, 36"D x 72"W x 40	5 5	21	\$1,330.20	\$27,934.20
			Butcher Block Top Orange Frame			
SMITH SY	STEM					
	33849	Groove 18"H A Shell Stack Cha	air	76	\$79.80	\$6,064.80
		Shell Finish Smith System Plastic Frame Finish Smith System Paint * * OPTIONS * * Glides	*SHELL:Smith System Plastic CHARCOAL *FRAME:Smith System Paint PLATINUM *OPT:Glides Standard Nylon Base Glide			
SMITH SY	STEM					
	33891	Groove Stool with Fixed heigh	t Legs, A-shell, 30"H, Glides	84	\$113.40	\$9,525.60
		* * OPTIONS * * Glides	Shell Charcoal Frame Platinum Standard Nylon Glides			
SMITH SY	STEM					
	910009093P	Cascade Mega-Tower (Casters 6" Totes & Three 12" Totes, Al) Open with Nine 3" Totes, Nine Totes are Standard Width	6	\$1,480.20	\$8,881.20
		Cascade_Side/ End_Panel_and_Edge_Color_Solection	Orange End Panels e			

MFG	Model #	Description		QTY	Sell	Extended
		Description		QII	Jen	Laterided
SMITH SY	911000000P	Cascade Mega-Tower (Casters	o) Open w/ shelves Orange End Panels	3	\$920.40	\$2,761.20
VS	03825-18	Hokki Stool with Standard Sea	ıt, 18"H Color Orange	6	\$108.33	\$649.98
VS	04170	Puzzle Freeform Table with Fix 65"W x 44"D x 30"H, Blue Dot		2	\$941.67	\$1,883.34
VS	2829	RondoLift Mobile Sitting/Stand Frame with Cross Base and Ga 27-1/4-44.5"H	d-At Table with Drawer, Column s Lift, 47-1/4"W x 33"D x Arctic White White Left Unified Locking 18001 Mobile	3	\$1,979.17	\$5,937.51
VS	45318	Shift+ Landscape Single Sided Insertable Shelves, Middle Par 41-5/8"W x 16-3/4"D x 43-3/8	tition Center, 2 Sliding Handles,	3	\$1,158.33	\$3,474.99

MEG		5	OTV.	Call	
MFG	Model #	Description	QTY	Sell	Extended
VS					
	45319	Shift+ Landscape Teacher's Low Mobile Cabinet, 2 locking Casters, 2 Open Compartments at Bottom with Adjustable Shelf, 1 Compartment with Locking Door and File Drawer, 46-1/4"W x 12-1/4"D x 45-1/2"H Arctic White Perforated Metal White Unified Locking 18001 Metal Bow Handle CR-Plated 1 Pull-Out W/ Suspension Francett	3 me	\$1,354.17	\$4,062.51
		Yes			
WALKER	MCGUIRE				
V	8502	RECOVERY COUCH W/ ADJUSTABLE HEAD REST, 72"L X 27"W X 20"H Vinyl Gray	4	\$555.56	\$2,222.24
ZFREIGH	T				
Zincion	ZFREIGHT	Freight	1	\$4,126.53	\$4,126.53
ZINSTAL	LATION ZINSTALL	Labor to Receive, Deliver and Install with Trash Removal	1	\$10,071.45	\$10,071.45
			_	,,,,	7/

MFG Model # Description QTY Sell Extended

This quotation valid for Purchase Orders received within 30 days unless otherwise mutually agreed in writing. Any note regarding lead times for products purchased reflects the best information available to us at the time the quote was delivered.

Unfortunately, supply chain issues continue for many manufacturers and/or shippers. If you have an absolute 'must receive by' date, please discuss that with your Lone Star Furnishings (LSF) representative prior to placing the PO. We will do everything in our power to work with manufacturers and freight companies to get your order to you in the timeliest manner possible. In the event delays are encountered, we will contact you.

If you were unable to execute a PO within the 30 days reflected on your LSF Quote, please contact your LSF representative to update your quote and confirm current lead times.

Thank you for considering Lone Star Furnishings. We appreciate the opportunity!

CLIENT APPROVAL:	DATE:	

Total:

\$145,540.23